Final Exam Semester 2 Academic Year 2021 Grade Level: P 2/1
Group learning: Foreign Language  Subject: Math  No. of Questions: 20 No. of Points: 20
Watpangiw School Under the Pathumthani Provincial Administrative Organization

Name: Student's No.: Level/Class: _ P2/1

I. Multiple Choice. Choose the letter of your answer. (20 points)

1) How many millimetres in 1 centimetre? lem = _2_mm
a. 10 b. 100 c. 1,000

2} How many centimetres in 50 millimetres? 50mm = __ ' cm
[ PR b. 50 c. 500

3) The length of the spoonis

cm

qa. 5centimetres b. 5 metres C. S millimetres

4) The length of the brush is cm

qa. 6 centimetres b. 7 centimetres C. 8 centimetres

5) The length of the rope is cm mm.

HII|:I:| IiII|1III |III|I|II|II|I|HIIIIIIIIIIII ‘IIII I II|II!I|IiII‘IIII|IIII|IIII|IIII‘I!I I III‘I I=|'|!I
s 10

L] 1 11 1z

cm

'< i DR TICONDEROGH | 150 17111 TR m

a. 7cm5mm b. 7cm 50 mm c.9cm 5 mm
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6) Which of the lengths is the shortest?

a. 4cm b. 80 em c.90cm
7) Which of the lengths is the longest?

a. 200 cm b. 45cm c.80m
8) Which of the heights is the tallest?

a. 9cm 5mm b. 600 cm c.9m
9) Arrange the objects from the shortest to the longest?

/*\mmm

tack comb

a. tack, bat, comb b. bat, comb, tack c. tack, comb, bat

10) Arrange the lengths from the tallest to the shortest?

Jordan

a. Chris, Jen, Jordan b. Jen, Jordan, Chris c. Jordan, Jen, Chris
11) How many kheeds in 1 kilogram? lkg = kheeds
a. 1 kheed b. 10 kheeds ¢. 100 kheeds
12) What is the weight of the parcel in kheeds?
a. 2 kg 3 kheeds b. 2 kg5 kheeds c.3 kg 5 kheeds
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13) What is the weight of the lobster in kg kheeds?
a. 4 kg 2 kheeds b. 4 kg 20 kheeds c. 40 kheeds
14) The weight of the pear is than the weight of an apple.
?h‘_ apple
: a. harder b. heavier c. lighter
pear
15) The weight of an eggplant is than the weight of the pumpkin.
Q. harder b. heavier c. lighter

eggplant pumpkin
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ltems 16 — 18)

16) The length of the pencil is than the length of the hammer.
a. heavier b. longer c. shorter

17) The length of the spoon is than the length of the key.
a. heavier b. longer c. shorter

18) The length of the hammer is than the length of the spoon.
a. heavier b. longer c. shorter

ltems 19 — 20)

19) The weight of the pomelo is than the weight of the duck.
a. heavier b. lighter C. taller

20) The weight of the duck is than the weight of the mango.
a. heavier b. lighter C. taller
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